oo set V9
cect 2.%]

- Fnd the L\\V\e,axh_o,t(éy\ Line L()Q at the PO‘:\t X=a,

1. §0 = XMy, a=- 2, £60=smx, a=17/,
pomt (~1,H) pomt t (e, )
'O = Uy + bx £'0 = cos x
m= §()=-H-e=-10 m= £ = cos() = V%2
y-) = —1o(x+1) Y=Y = B (x-"%)
)/:—le—IO+"i y-:.[ff;é_x_gl’«l;ay/?_
so, LG) = -1ox -6 LOO = By 4 (o_-&r_\r_?
6. Linearize 3(»04“7 at a=o. 1. eatimate (l.?%}q
Rpproximate 3[3s7 and L1 . ¥(x)=)<q awd Q=2
T luotrate Ly 7«1‘,1\‘:\3 j(x) #L(x, pomt (2,16)
pomt Co, l) ‘ oo =

9 '(x) = —-(Hx) M= 23" m= £ = 4(2)3 = 32

m=q® = 3|(') - y-/e=32(x-z)
\ .SO L(X3=32X-L{8
L_b(\ =X \ Thewn
So, | (1.939) = £(1.999) & L(1.999) = 15,98

36.as =1-.os' = $(-.05)

¥ L(-05) = 983
3Ty ST = ) 2. estimate Jico)

= L()) = 1.03 FOO =3x and a=1000

powmt ¢ (looo, 10)

2y !
. Foy= X 7= 3%y
=2 ! ! |
P (-1 3 m = g(‘mO) = 3' 'Dt - 300

2 \ y-10 = 3 (x-1000)

S0, L(x) = 30 X+

ﬂtoo\' ¢ (oo % L(1oot) = ]0.003



